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e Use additional time to select the questions by reading and organize to order of questions to
answer.

e Answer ten questions by selecting five questions from part A and five questions from part B.
e When answering the question write down the relevant steps and accurate measuring units.

e The volume of a right circular cone of base radius r and height h is %nrzh, the volume of a
right circular cylinder of base radius r and height h is mr?h and the volume of a solid sphere
. . 4 3 22
of radius r is > . (= 7)

Part A
Answer five questions only.

01) A person who earns 2 400 000 rupees income for a year, pays the income tax according to the
following table. Show that, the interest earned at the end of two years is 91 680.00 rupees when %

of the remaining amount of his income after paying the income tax, is deposited in the bank at
annual simple interest rate of 10%.

Income Income tax
percentage
First 1 000 000 rupees | Tax free
Next 500 000 rupees 4%
Next 500 000 rupees 8%
Next 500 000 rupees 12% (10 marks )

02) An incomplete table prepared to draw the graph of the function y = 2x2 — 5 is shown below.

X -3 -2 -1 0 1 2 3
y 13 | -3 -5 -3 3 13
i) Find the value of y when x = —2. (01 mark)
if) Using the scale of 10 small divisions as one unit along the x — axis and 5 small divisions as
one unit along the y — axis, draw the graph of the above function. (03 marks)
iii) Write the interval of values of x for which the function is decreasing negatively.
(02 marks)
iv) Using the graph, find the roots of 2x2 — 5 = 0. (02 marks )
V) Write the equation of the graph which is obtained when the above graph is moved upward
by two units along the y — axis. (02 marks)
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03) The following frequency distribution table shows the information about the attendance of the
students during a certain school term.

Attendance | 300- 350 | 350 - 400 | 400 — 450 | 450 -500 | 500- 550 | 550 - 600 | 600 - 650
of the

students
Number of 4 7 10 15 11 8 5
days
1) What is the modal class of this frequency distribution? (01 mark)
i) Find the mean of the attendance of the students per day using the mid value of the modal

class as the assumed mean or otherwise. (105 marks)
iii) It is decided to provide a glass of milk for each of the children of this college in the
morning. If one glass of milk costs 50 rupees, find the amount of money spent for a day.

(02 marks)
iv) If one glass contains 200 liters of milk, find the number of liters of milk required for a 60
days school term. (02 marks)

04) a) When the sister gave 30 rupees from the amount of money she had, to his brother, the amount of
money both of them had, are equal. When brother gave 30 rupees from the amount of money he
had, to his sister, the amount of money sister had is equal to the twice of the amount of money
brother had. Find the amount of money sister had and the amount of money brother had separately
by constructing and solving a pair of simultaneous equations taking the amount of money sister

had as x rupees and the amount of money brother had as y rupees. (06 marks )

b) Expand ( x + 5 )3 and verify your answer when x = 3. (04 marks)

05) i) Simplify, g 2 (03 marks )
. . . 2 3

i) Simplify , m‘l‘ 132 (03 marks)

iii) Solve, x> + 5x —36 =0 (04 marks)

06) A mechanic who is standing 10 m above a vertical tower on horizontal level, observes a parked car
at an angle of depression of 30°. After few minutes, a man who is in the parked car, observes the
mechanic who is in the top of the tower, at an angle of elevation of 65°.

i) Indicate the given information in the rough sketch. (03 marks)
ii) Draw the scale diagram using the scale of 1 cm represents 5 m. (03 marks)
iii) Using the scale diagram, find the actual distance from foot of the tower to the parked car.
(02 marks )
iv) Using the scale diagram, find the actual height of the tower. (02 marks )
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Part B

Answer five questions only.

07) A peddler sold 30 apples on the first day, 33 apples on the next day, and 36 apples on the day after
that, such that three apples sold each day more than the previous day.

1) When write the number of apples sold in first five days respectively, which progression is it

shown? (01 mark)

i) Built up an expression for the number of apples sold in n" day in terms of n.( 02 marks )

ii) Find the number of apples he sold in 12" day. (02 marks)

iv) Find the total number of apples he sold in the first eighteen days. (03 marks)

v) While the buying prize of an apple is 112 rupees, the selling price of it is 125 rupees. Find
the profit gained by him by selling the apples in the first 18 days. (02 marks )

08) In the following constructions, use only a straight edge with a cm/mm scale and a pair of
compasses. Show the construction lines clearly.

i) Construct the triangle ABC such that AB = 8 cm, BAC =90° and AC = 6 cm.( 03 marks )
i1) Construct the perpendicular bisector of BC. Mark the point where it meets BC as O.
(02 marks )
iii) Construct the circle of center O and radius OC. (02 marks )
iv) Mark the point where it is situated on opposite direction of the position of point A and
meets the circle by perpendicular bisector which you have drawn in part (ii), as D.

(01 mark)
V) Write the type of the triangle BCD according to the magnitudes of the angles by giving
reasons. (02 marks )

09) a) “ The sum of the interior angles of a triangle is 180°”. Write the formal proof of this theorem.

(105 marks)
b) In the parallelogram ABCD, the diagonal DB extended to E such that BC = BE.
A D
B /
/ C
E

i) Prove that, CBE = 180° — ADB (03 marks )
i) Prove that, BEC = @ (02 marks )
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10) In a circle of center O,EAB = ECB.According to the information given in the diagram, prove that ,

EAB = 90° — 2% (Hint: Take 40

= =)

(10 marks)

11) If the given solid is made by welding a solid hemisphere of radius r and a solid cone of radius r
and height is six times of its radius, which were made by melting a solid cylindrical shaped metal
rod of radius a and height is five times its radius ( Assume that there is no wastage of metal when

welding .),show that a = % and If r = 2.6 cm, find the radius of the cylindrical shaped metal rod

to the nearest whole number using the logarithms tables.

(10 marks )

12) In a sports training squad of 137 athletes provides training for team and athletics. The athletes those
who play team events, don’t play athletics. While 60 women athletes in the training and 72 in
athletic training. 50 men athletes are practicing team events.

Pal
C

i) Copy the given uncompleted Venn diagram given in to your answer sheet and name the sets

in suitable manner. (02 marks)
ii) Indicate the given information in the named Venn diagram. (02 marks )
iii) How many women athletes play the athletics? (02 marks )

iv) Later, all the women athletes turned to athletics. Considering the changed data and draw a
suitable separate Venn diagram and indicate the relevant information. (04 marks )
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